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UNIVERSITY OF NORTH BENGAL 

B.Com. Programme 6th Semester Examination, 2022  

GE2-COMMERCE   
INDIAN ECONOMY 

Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 

 GROUP-A / িবভাগ-ক 

 Answer any two questions 
fuEufyf[kr esa ls fdUgha nks iz”uksa dk mÙkj nhft;s 

েয-েকান dিট  pেűর উtর দাও 
rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

12×2 = 24

1. State the problems of agricultural marketing in India. Discuss the measures taken 
to tackle the problems. 

6+6

 Hkkjrh; Ñf’k cktkjksa dh leL;k dk o.kZu dhft;sA ;s leL;k nqj djus ds fy, dkSu 
lh mik; fd;s tk jgs gSa \ 

 ভারেত kিষ িবপণন ব°বsার সমস°ািদ আেলাচনা কর। এই সমস°া দূরীকরেণ গৃহীত পদেkপgিল 
আেলাচনা কর। 

 Hkkjrek Ñf’k ctkjdks leL;kg: crkmuqgksl~A leL;k lek/kkudk ykfx xfj,dk 
mik;g:ckjs NyQy xuZqgksl~A                                                  

  
2. Explain the principal features of the Industrial Policy, 1991 as announced by the 

Government of India. Also discuss the consequences of the Industrial Policy, 
1991. 

6+6

 Hkkjrh; ljdkj }kjk izLrqr u;h Industrial Policy] 1991 dh eq[; fo”ks’krk,¡ ds ckjs esa 
fyf[k;sA bl New Industrial Policy, 1991 dk ifj.kke Hkh fyf[k;sA 

 ভারত সরকােরর �ঘািষত ১৯৯১ সােলর িশlনীিতর মুখ° �বিশŶ°gিল ব°াখ°া কর। ১৯৯১ সােলর 
িশlনীিতর ফলাফলgিল আেলাচনা কর। 

 Hkkjr ljdkjys ?kks’k.kk xjsdks vkS|ksfxd (Industrial) uhfr] 1991 dk izeq[k fo”ks’krkg: 
O;k[;k xuZqgksl~A vkS|ksfxd (Industrial) uhfr] 1991 dks ufrtkg: ifu NyQy 
xuZqgksl~A 

  
3. What are the objectives of India’s Five Year Plan? How far these objectives 

fulfilled?  
4+8

 Hkkjrh; iap o’khZ; ;kstuk (Five Year Plans) ds mÌs”; D;k gSa \ vki ds vuqlkj ;s 
mÌs”; fdrus lQy gq, gSa \ 

 ভারেতর পĀবািষর্কী পিরকlনার উেdশ°gিল িক িক ? এই উেdশ°gিল কতখািন সফল হেয়েছ ? 
 Hkkjrdks ik¡po’khZ; ;kstudk mÌs”;g: ds gqu~ \ ;h mÌs”;g: dfrlEe iwjk Hk;ks \ 
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4. Explain the main features of a developing country with special reference to India. 
How does the problem like population explosion hinder economic development 
of this country? 

6+6

 Hkkjr ds lanHkZ esa fdlh ,d mUu;u”khy ns”k ds eq[; fo”ks’krkvksa ds ckjs esa fyf[k;sA 
tula[;k fo”kQksV (population explosion) fdl rjg ls vkfFkZd mUu;u esa ck/kk 
igq¡pkrk gSA 

 ভারেতর মেতা একিট উnয়নশীল �দেশর মূল �বিশŶ°gিল আেলাচনা কর । এই �দেশর অথর্ৈনিতক 
উnয়েন জন িবেsারণ িকভােব বাধা সৃিŶ কের ? 

 Hkkjrdks fo”ks’k lUnHkZek fodkl”khy ns”kdk eq[; fo”ks’krkg: O;k[;k xuZqgksl~A 
tul³~[;k foLQksVtLrk leL;kys ;ks ns”kdks vkfFkZd fodklykbZ dfÙkdks ck/kd 
cuk,dks N \ 

  

 GROUP-B / িবভাগ-খ 

5. Answer any four questions: 
fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj nhft;s 
�য-�কান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”udks mÙkj ys[uqgksl~ 

6×4 = 24

(a) What are the sources of rural credit in India? 6
 xzkeh.k _.k (rural credit) ds lzksr D;k gsa \ 
 ভারেত gামীণ ঋেণর উৎসgিল িক িক ? 
 Hkkjrek xzkeh.k _.kdks lzksr ds gks \ 

(b) What are the causes of industrial sickness in India? 6
 Hkkjr esa industrial sickness ds dkj.k D;k D;k gS \ 
 ভারেত িশl rgতার কারণgিল িক িক ? 
 Hkkjrek industrial sickness dks dkj.kg: ds ds gks \ 

(c) Briefly discuss the effects of Green Revolution on Indian Agriculture. 6
 gfjr Økafr (Green Revolution) dk Hkkjrh; Ñf’k is D;k ;ksxnku gS \ 
 ভারেতর kিষেkেt সবজু িবpেবর pভাবgিল সংেkেপ আেলাচনা কর । 
 Hkkjrh; Ñf’kek gfjr ØkfUrdks (Green Revolution) izHkkockjs laf{kIrek ppkZ xuZqgksl~A 

(d) What are the problems of cooperative farming in India? 6
 leo; Ñf’k (cooperative farming) dh D;k D;k leL;k gS \ 
 ভারেত সমবায় kিষর সমস°াgিল িক িক ? 
 Hkkjrek lgdkjh [ksrhdk (cooperative farming) leL;k ds Nu~ \ 

(e) ‘Increase in population has affected the economic development of India’. 
— Discuss. 

6

 *tula[;k of̀) us Hkkjrh; vFkZ O;oLFkk dks ihNs Bdsy fn;k gS & viuk er izdV 
�djsaA  

 ভারেতর অথর্ৈনিতক উnয়েন জনসংখ°া বৃিdর pভাব কতখািন তা আেলাচনা কর। 
 **tula[;k of̀)ys Hkkjrdks vkfFkZd fodklykbZ vlj xjsdks NA** NyQy xuZqgksl~A 

(f) Discuss the measures adopted to solve the mass-poverty problems in India. 6
 tu nfjnz leL;k (mass-poverty problem) dks nqj djus ds fy;s D;k mik;s Hkkjr esa 

fy;s x;s gSa \ 
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 ভারেত গণ-দািরd° সমস°া দূরীকরেণ গৃহীত পদেkপgিল আেলাচনা কর। 
 Hkkjrek tu xjhch (mass-poverty) leL;kg: lek/kku xuZ viukb,dk mik;g:ckjs 

NyQy xuZqgksl~A 

  
 GROUP-C / িবভাগ-গ 
6. Answer any four questions:  

fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj nhft;s 
�য-�কান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ 

3×4 = 12

(a) Mention three factors responsible for low productivity of Indian agriculture. 3
 Hkkjrh; Ñf’k esa fuEu mRiknu ds fdUgha rhu dkj.kksa dks tkudkjh nhft;sA 
 ভারতীয় kিষর িনm উৎপাদন kমতার জন° দায়ী এমন িতনিট কারণ উেlখ কর। 
 Hkkjrh; Ñf’kdks de mRikndRodk ykfx ftEesokj rhuoVk dkjdg: mYys[k xuZqgksl~A 

(b) What do you mean by market economy? 3
 ctkj vFkZuhfr (market economy) fdls dgrs gSa \ 
 বাজার অথর্নীিত বলেত িক �বাঝায় ? 
 ‘Market economy’ Hkusdks ds gks \ 

(c) What are the basic roles of NABARD in rural development? 3
 ‘NABARD’ dk xzkeh.k fodk”k esa D;k Hkwfedk gS \ 
 gমীণ উnয়েন ‘নাবাডর্’-এর মূল ɛিমকা িক ? 
 ukckMZdks (NABARD) vk/kkjHkwr Hkwfedk ds gks \ 

(d) What do you mean by rolling plan? 3
 ‘Rolling plan’ fdls dgrs gSa \ 
 ‘Rolling Plan’ বলেত িক �বাঝায় ? 
 ‘Rolling plan’ Hkusdks ds gks \ 

(e) Name any three institutions providing long-term loans to industries in India. 3
 fdUgha rhu institution dk uke tks nh?kZ e;knh _.k iznku djrs gSa] fyf[k;sA 
 ভারেতর িশlেkেt দীঘর্েময়াদী ঋণ pদানকারী �য �কান িতনিট pিতŸােনর নাম �লখ। 
 Hkkjrdk m|ksxg:ykbZ nh?kZdkyhu _.k miyC/k xjkmus rhu laLFkkg:dks uke 

fnuqgksl~A 
(f) What do you mean by population explosion? 3

 tu foLQksV (population explosion) fdls dgrs gSa \ 
 জন িবেsারণ বলেত িক �বাঝ ? 
 tula[;k foLQksV HkUukys ds cqÖuqgqUN \ 
 

——×—— 
 


